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INSTRUCTIONS:

1. Do not operi this question paper until‘ydu are told to do so.
2. This paper consists §f TWO sections A and B. ‘. ‘
Section A: Attempt all qﬁeétions. ‘ : 4z M ; ‘?‘55 marks)
Section B: Attempt any.THREE qﬁesﬁons. * 5 (‘l_-szma'rks).

3. Use blue or blac‘k’p-en only.
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i SECTION A: ATTEMPT ALL QUESTIONS. (55MARKS)

| 1) (a) What do you understand by the term “wealth”? b _,:‘1 - (1mark)
-(b) Give any three charactenstlcs of wealth. | : (3marks)
2) (a) What is meant by the term “demand"? et l ~ {(1lmark)

. (b) Show how the followmg aﬂ'ect the quantlty demanded of,
commodlty ifitis a normal good

(i) Price of commodity . s : 2 (ztn;afk#) |
(ii) Taxation level o  (2marks)
3)“’(a)Whét is an industry? Lo = © (1mark)

(b) When all firms in an 1ndustry are earning normal profits, the g
industry is in equxlibnum Use a graph to show this. ~ (3marks)

4) (a) Show the role of the market in the allo‘cation of resources. (5marks)
5) What are the Key variables (components) of aggregate deman_d? ~ (4marks)

6) “National Product” is equal to “National Income” which is equalto
~ “National Expenditure”. Explain the validity of the statement: ~ (7Tmarks)

7) (a) Demonstrate how a higher interest rate causes aggregate _
output to fall. I N e : _ : (amarks)

(b) Explam the influence of general price on the detnand for money (Zmarks)

8) (a) (i) What do you understand by the term “indirect taxes”? (lmark) '
(ii) Give an example of indlrect tax in the Rwandan ﬁscal system (lmark)

(b) Direct taxes are not. inﬂatmnary Explain this statement (2marks)

: (c) How can suppliers or producers shift the burden of taxes to -
consumers of their products?. ' | (2marks)
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= .,'9) (a) G1ve the three pos1tions of balance of payments of a country (Smarksl S
" (b) Explain how inflation causes balance of payments deficit. (2markalf ‘

10) Explaln 5 ways in whxch govemment mtervenes in the economy (Smarks)

11) (a) What is Internatlonal Monetary Fund (IMF)? o (Zmarks) R :

(b) Identify any three of the object;ves of IMF. ey : (smarks) .: i

~ SECTION B: ATTEMPT ANY THREE QUESTIONS.(45MARKS) |
12) (a) Differentiate between deflation and disinﬂation. . - A (2marks)

(b) Show how the deciswn of selhng government bonds can | e
contnbute to the decrease of mﬂation e g (3marks) .

(c) Give fives a_rguments to show the harmful effects of

galloping inflation to any economy. e sy (IOmarks)
13) (a) (i) Define the term “voluntary unempmyme’ntio : o ‘(im ark)
| (ii) State three causes of vol_tintaty un_employment. ' | ' (Smarks)‘ e
lb) (i) What is meant by the tetjm'“ftill ‘employmgnt”, o (lmark) ,

(ii) Why is it difficult to attain full employment in any - A 0
developing economy? slabup s I o ,(IOmarks)

- 14) (a) Distmguish between commerc1a1 and subs1stence agrlculture. (Smatks) v

(b) Why is it necessary to develop commercxal agnculture in G
' Rwanda’s economy? o : i (7marks)
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15) (a) What is “rural urban migration”?

~(b) Briefly explain any four causes of rural urban migration in: - ,
developing countnes e _ - (8marks)
. (¢) Explain the consequences of rural urban mlgratlon on the L2 .
economies of developing countrles : ‘(6marks)
16) (a) Distinguish between Econormc growth and Economlc e
development.  (10marks)
(b) Mentlon five dlsadvantages of forelgn aid to a developmg -
countries. (Smarks)
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ECO Ml 1

1. a) Wealth is the value of all the resources that are possessed by an
~ Individual or soclety.

b) Characteristics of wealth:
< It has utility,
% Itis limited in supply,
e It has money value,
% It lis transferable,
% Wealth can be man-made or nature-given, it can be owned by
< ‘ individual, government or by community. : |
2. a) Demand refers to the desire backed by willingness and financial = |
ability to require a given commodity. '

b) i) The quantity of commodity depends on its price:
The lower the price of commodity, the greater the quantity will be
- bought ceteris paribus and vice versa.

ii) The level of taxation affect the quantity demanded of a
, commodity:
s High tax on goods will ralse their prices and hence cause the demand
~ to fall and vice versa.

3. a) An Industry Iis a combination of many firms.

b) When all firms in industry are earning normal profit, the industry is in
“equilibrium. In this condition Marginél cost = marginal revenue, the
industry has no tendency to expand or to contract. There are no new
firms joining and no old firms leaving.

L |

4. a) Market plays a great role In the allocation of resources: :
< In the market the interaction of demand and supply of goods and
services determines how much of a good wlll be produced and
the price that is charged for that good. .
< Where demand is high for a good A there is increase of its
‘production until equllibrium price between demand and supply
of good A is reached. »

]
- Compiled by Teaching Aids Supply Ltd (0788763586/0725894852) Page-1/2015 11



< Where there Is excess supply, there Is a need to roeduce
production till market equilibrium attalned.

* Thus the market allows the production of goods and services
where desired. '

5. Key variables (components ) of Aggregate Demand:
% Consumption expenditure,
% Investment expenditure,
< Government expenditure,
< Import spending minus Export earnings = net export

6. a) Definitions: : A
< National product (NP) refers to the value of flnal goods and ', "
services produced during a year. It Is sometimes calculated by
summing up of value added on output In all sector.
< National Income (NY) consists of remuneration paid in terms of _
money to the factors of production annually in country i.e it is the
total some of wages and salarles, rent, Into'rosts and a profits.
<+ National oxpendlture. Is the total some of expenditure incurred
~ on goods and servlces durlng one year ln a ‘country. (It includes
“the different items: private conception expendlture (C), Gross
‘domestic private Investment (1), Government expenditure on
goods and services (G),Net income carved from abroad (X-M),I.e
NE= C+I+G+(X-M))

b) From the above, we can conclude:

o

* National product and national income yield the same results
because the final value of a commodity is always equlvalont
to the remuneration paid to factors of production in form of
income hence NP=NY

“ NP and NE give the same result because the total
expenditure on a commodity is equivalent to the final value
(total value added) of that commodity hence NP=NE

¢ The national income and national expendlture give the same
figure because the total expendlture on goods and services In ;
always equivalent to Income earnlng. Hence NE=NY., '
Therefore, since Natlonal Product= Natlonal Income Natlonal
Product= NE, then NP=NY =NE.
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3 N Rt

iWhen prlces are Ir;éreaslng, the demand for money Increases and when
prices fall, demand for money also falls.

8. a) Indirect taxes are taxes levied on expenditdfé; the tax is paid wheni
a person or a firm spends on commodities.

Example of indirect taxes in Rwanda: Value added tax (VAT), customs
DUTIES, Sales tax / turn over tax, etc '

b) Direct taxes are not inflationary: That is meant Direct taxes cannot
‘cause inflation. They are taxes Imposed on income, profit, and benefits
and on wealth of individuals and companies; they cannot be directly
shifted to commodities’ prices so they cannot easily lead to inflation.

c) Suppliers or producers can Shlft the Imposed taxes to consumers of
their products by increasing prices of their products.

" . 9. a) Three position of balance of payment of a country:

< Balance of payment surplus .
< - Balance of payment deficit
% Balance of payment equilibrium

b) Inflation causes the balance of payment deficit:

- High inflation makes export expensive aqd makes the country less
competitive on the world market and hence leads to balance of ‘
‘payments deficit. e

10. The ways in which government intervenes in ecohomy:
Government intervenes in economy by:

< Regulating the private sector so as to ensure proper use of national
resources and protecting consumers from exploitation.

\/

< Establishing laws and enforcing them to ensure an orderly business
& environment.

Compiled by Teaching Alds 8upplthd (0788763586/0725894852) Page 3/2015 11



* Producing goods and services especlally those which the private
sector may not properly or adequately produce and supply.

% Stabilizing economy through the use of monetary and fiscal pollcles.

%+ Imposing taxes and provldlng grants and subsldles for purchase of

 goods and services from the private sector. = '

» Redistributlng income ameng Indlvlduals, sectors and reglons of the
economy. , B et : :

<> Provlding and malntalnlng Infrastructure In form of hospitals, schools,

- roads dams and telecommunications. -

11. -a) lnternational Monetary Fund (IMF) Is an international financlal
organization that ~oversees the global flnanclal system by observlng
exchange rates and balance of payments, and providing both financial

~and technical assistance to member countries.

b) Its objectives: |

. % To establish exchange rates,
- <% Promote free trade and remove all trade restrictlons,
% Extend financial assistance in form of loans and grants to member
countries which are adversely affected by BOP problems.
‘. - % Stabilize prices so as to Increase the rates’ ef economic growth and :
o development among poor nations.
< To establish market oriented systems among under developed
_economies,
< To provide technical expertise to poor countrles in pursulng
economic policies and reforms. ;
<. To increase global cooperation through participation in international
trade. :
+ Harmonize policies pursued by different countries so as to create -
peace among'member nations. A - ¢
“+" To establish a mechanism of settling international debts.

12 . a) Deflation refers to the continuous fall In the general price level
while Disinflation is the decline In the rate of inflation.

b) If government sells bonds, private sector gives up deposlts
(money), the supply of money will be reduced. The small supply of
money and large supply of bonds will cause bond prices to fall and
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Interest rates to rise both will lead to reduction of Investment which
will consequently lead to reduction of aggregate demand and thus
to reduction If Inflationary pressure.

c) Galloping Iinflation or “run away” I'nflation"or hyperinflation is the
rapid rise in the general prlce level. It has the fcllowing harmful
. effects on an economy' :
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Farmers lose because prices of agrlcﬂltural products lag
behind inflation. Their savings, welfare and productivlty
decline. ;

Workers also suffer because wages tends to be “sticky”
downwards and therefore lag behind inflation.

The standard of living of fixed iIncome earners like pension
earners those who survive on past savlrlgs declines

It discourages savings since real value of money falls with
time.

It redistributes incomes from the poor to the rich, business
people (who earn higher profit margin.) this reduces
aggregate demand.

It discourages Iendlng since lenders fear to lose their real
value of thelr money. -

It leads to balance of payments problem by encouraglng
imports and discouraging exports. =

It discourages production of exports: people devote
resources to produce commodities to sell in the local market
where price are higher than in foreign market where prices

- may be lower.

it encourages rural- urban migration. People rash to towns to
engage In business and earn high profit margins. This

- eventually leads to urban unemployment, slums, congestion

and crimes In town. .
It undermines the external value of the currency which calls
for devaluation which can lead to Increases in prices of
Imports and further inflation.
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%+ It leads to political lnstabllltlos, and strikes workers who
demand for higher salarlos due to Incroase n the cost of
living.

13. a.l) Voluntary unemployment is a situation where jobs are
available but labour force Is unwillling to take the Jobs at a glven wages '
rates.

if) Cau_ses of voluntary unemployment:

.0

. * Desire for leisure by individual,
<+ Expectation of better paying alternative jobs,

02

o < Existence of higher unemployment benefits from the rato (for

developed countries)
< Desire to live on existing wealth of the famlly,
* Unacceptable wages rate,
+ Laziness of some workers,

< Unfavorable working conditions,
< Early retirement (earl pension)

b.i) Full employment Is a situation where there are more jobs than job
seekers. :

Or a situation where all people or f actors willing to work can get work.
Or, when unemployment rate is about 3% or less.

Or a situation where everybody who is capable and willing to work at an
acceptable wage is employed or only unemployment is frictional
unemployment which should not exceed 3% of the working population.

ii) It is difficult to attain full employment in any developing economy
- because:

\
\
: % Use of lnapproprlato technology, :
: < Urbanh unemployment due to rural-Urban mlgration,
W ngh population growth rate in economy, ’




+ Heavy dependence on nature Iseasonal unemployment,

%+ Large subsistence sector. o o

< Shortagel/lack of co-operant factors e.g capltal. o

< Immobility of factors of productlon between jobsl
geographlcal/occupational :

< Planning preference for forelgn expatrlates.

< Inappropriate education systom.

< Limited domestic and foreign marketsl low aggregate demand.

< - Heavy capital outflows whlch limits Investment.

< Structural changes in the economy may cause temporary
unemployment. :

< Trade unions restrict entry of new employees, whlch malntalns the

_ wages of the already employed people high. ~ o
< Soclal barriers e.g Discrimination In the Iabour market. =
% Political instabllity. '

14. a) Rural-urban migration is the movement of people from rural
areas to urban areas.
b) Causes of rural urban migration:
< Localization of Industries: In town Industrlalization Is more
developed than In rural areas. In towns there is more ’
employment opportunities than In urban’ ‘areas.
< Wage - gap between rural and urban areas. Wage rate In urban
areas Is higher than In rural areas. -
< There Is a big gap of soclal services like roads, schools,
hospitals, between rural and urban areas. They are more
developed in urban areas. o
< Political Instabillty in some rural areas pushes people towards
urban areas. : :
z . % Low prices of agricultural products force people to abandon
rural areas.

& < Low demand for commodities In rural areas leads rich people to
shift to urban areas where demand for commodities is high.

% Political Instabilities: Securlty organ s more developed in urban
areas than In rural areas, this should attract people from rural to
urban areas. .

<+ Unfair land distribution In rural areas pushes people to shift to
the urban areas.
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< It creates t gh rate of unemployment In urban areas.
It deprlves rural areas of labour In agrleultural sector.
It lncreases es of commodltles, housing and transport In urban
areas. .~
% It leads to Insecurlty and dlsorder in towns. .

# It leads to prostitution, slums, gambling and ldleness. ' _

% It leads to rural underdevelopment since development is diverted to -

1 towns where influential people live. A | :

. It leads to income disparltles where rural people are Ieft with Iess
- money because of low bargalnlng power, low prices for primary

products and low wages. =
< It increases “street children” as parents fail to look after them In

towns.
15, a) Difference between monetary and eubsls_tence agriéulture:
Monetary / commercialized T Subsistence agriculture
- | agriculture :
_ 11 | Uses hired or purchased inputs | 1 | Uses family Iabour and less hlred
. ' : or purchased Inputs :
2 | Uses modern methods. E.g |2 {Uses backward technology o.g
‘ tractor ‘| hand hoe.
3 | Produces surplus for sale. 3 | Almost no surplus for sale.
4 | Aims at profit maximization 4 | Aims at satisfying basic needs
B __| | especially food.
5 | There is specialization 5 _| No specialization
6 | High productivity 6 | Low productivity due to use of
" ;e - backward technology.
" |7__| Large scale production | 7 | Small scale production
8 | Production of hlgh quality 8 | Production of low quality
- products. o products.
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b) Itis necessary to develop monetary agrlculture In our economy
because agriculture: ; . :
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ls the source of food for the growlng urban and rural
population

It provides income for rural farmers and urban traders

It provides employment to rural famers and urban traders
It provides capltal (money) for development of industry

It provides tax revenue when income of those engaged in
agriculture Is taxed. ik

It is the source of forelgn exchange.

It provides backward linkages to the Industrial sector by
providing market for Industrial final and intermediate
products e.g hoes, fertilizers, insecticide. ,

It provides forward linkages to the Industrial sector by

‘supplying raw materials and Intermediate products to the :

industrial sector. ;
it reduces lncome Inequalltles by provldlng Income to many
people.

It releases labour to the Industrial sector.

It reduces balance of payments problem by increasing
exports and reducing food Imports. '

It reduces inflation by increasing food supply.

It increases aggregate demand by Increaslng purchaslng
power of many people.

It encourages the development of Infrastructure llke roads,
schools, hospitals, :

If well developed, It leads to political stabillty by reduclng
food strikes.

It reduces rural-urban migration by keeplng many peoplo busy
In rural areas. :
It is the source of largest percentage o_f GDP.

-
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16.

a) The difference between Economic growth and Economic
Development. e e

Economic growth

Economic development

01 | Involves increase In national Involves Iincrease in quantity and
income quality of National income.
02 | Can be achieved with income | Achieved with fair income
| disparities distribution

03 | Can be achieved even if the There Is change in type and
5 quality of goods and services | quality of goods and services.
' does not change. LT gy 2
. 04 | Technology can remain the Involves change in technology.

same

05 | Can be achleved In a short it is a long run achievement
: time ;
06 | Can be achieved when the There Is a change in the quality
quality of life is very low of life of people in terms of :
nutrition, life expectancy, health
: . and political stability.
07 | Can be achieved when there There should be increased Iin
is unemployment. employment opportunities
08 | Can be achieved with Is achieved when there is
environment deterioration ‘| minimum deterioration of
7 _ environment.
09 | Can be achleved with no or There must be changes In
| little changes in economic economic institutions. .
situations e.g . Banks, co-
operatives
'10 | Is rapid process Is a slow process
11 | If Can be achieved without There Is integration economlc

o

integration of economic
sectors and with economic

sectors and sectors and self-
sustenance.

dependence.

b) The disadvantages of foreign aid are:

' ¢4 Some governments are corrupt and money may go where it
. needs to go.

% 00untries can become reliant on aid- lncreased dependency.
< Aid can help support authoritarian regimes.
< Ald can be wasted on glorifying the aid organizations.
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Ald can dlseourage development and hlnder forelgn lnvestment. "
This Is because the reelplont eountry's currency exports beeome
more expensive to forelgn countries. ;

Ald can hinder the emergence of an entrepreneurial elass :
Aid discourages domestle savlng.

It may undermine development ifitis given to countries that are
unlikely or unwilling to make necessary polltical and economic
reforms. e
Tied aid may oblige recipient country to use the aid in
production of goods and services that promote the donor -
eountries. =




